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N.B. (1) Question No. 1 is compulsory.
(2) Attempt any four questions out of remaining six questions.

(3) Figures to right indicate full marks.
(4) Answers to all the sub questions should be attempted and grpuped together.

1. (a) One cannot not communicate”. Discuss this statement in the light of non-verbal 8

-communication.
(b) Write an application letter in response to the following advertisement. Assume required 12

qualifications.
— Wanted a Service Advisor at our Bangalore office. The candidae must have a

Bachelor’'s degree in automobile enginnering with four years of relevant experience.
A dynamic professional with excellent communication and interpersonal skills
will be preferred. Please send your detailed resume to T. S. Toyata, 20 Kadambari
Lane, Bangalore. (Use complete Block Format)

2. (a) What are the causes of poor listening ? What steps would you take in order to ensure 10
good listening ?

(b) Define the following :— 5
(i) Kinesics (ii) E-mail (iii) Drilling (iv) Hammer  (v) Thermometer.
(c) Provide one-word substitute for the underlined words and rewrite the sentence. 5
(i) The audience broke into natural and unforce applause.
(i) This village fair is arranged once in two years.
(ili) The meeting has been put off for a later date.
(iv) | always refer to the dictionary that offers the history and origin of words.
(v) Those twin sistes were same in every respect. ;
16

3. (a) Write short notes on any four :(—
: (i) The role of a receiver in communication

(i) Any two psychological barriers

(iii) Various connotations of silence

(iv) The importance of Context in the cycle of communication

(v) Importance of Feedback

(vi) Medium and Channel.

(b) Select a correct option for the given statements :—

(i) Which of the following counts as Oral Communication ?
— A Notice pinned on the notice board
— A text message : S
— An E-mail
— A call on mobile phone. ;

(i) Which of the following is an advantage of written communication over spoken

communication ?

— It carries more authority
— It provides record for reference
— It is quick and easy to produce
— The information can be given privately.

(iii)  Which of the following is a positive body language sign
— Smiling ,
— Yawning -
— Refusing to make eye contact
— Writing a thank you letter.

(iv)  Which of the following counts as cultural misunderstanding ?
— Not being able to read someone’s hand writing
— Not understanding a foreign language
— Not understanding a technical term in a manual
— Reading American date 1/4/2007 as 15t April, 2007 rather than 4th January, 2007.
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